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Number Series Questions for SBI Clerk Mains, LIC AAO Pre, RBI 

Asst. Mains, SBI PO Pre, IBPS Clerk Mains, IBPS PO Pre and IBPS 

RRB Exams. 
Number series Quiz 61 

Directions  : Find the wrong term in the given series. 

1.  1      3       6      10.5      16      26 

A. 1   B. 6   C. 26   D. 3   E. 16 
 

2.   24      30       48      90      158      294 

A. 294   B. 158   C. 90   D. 48   E. 30 

 

3.  101      108       132      190      299      475 

A. 101   B. 475   C. 132   D. 299   E. 108 

 

4.  1      3       21      66      131      221 

A. 21   B. 1   C. 131   D. 221   E. 3 
 

5.  9      16       25      50      87      144 

A. 144   B. 50   C. 25   D. 9   E. None of these 

 

6.  7      12       29      46      67     92 

A. 92   B. 46   C. 29   D. 12   E. 67 

 

7.  2      6       30      274      4458 

A. 4458  B. 274   C. 30   D. 6   E. None of these 

 

8.  5      7.5       15      27.5      112.5     393.75       1575 

A. 393.75  B. 112.5  C. 27.5   D. 15   E. 7.5 

 

9.  0      0       18      96      300     750 

A. 0   B. 95   C. 300   D. 18   E. 750 
 

10. 35      43       66      110      185     295 

A. 43   B. 66   C. 110   D. 185   E. 295 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

E B B A C D B C E C 

 

Explanations:  
 

1.   Series Pattern: 
 

Series I :  1   3   6   10.5   17      26     
Series II :   + 2    + 3   + 4.5   + 6.5   + 9       
Series III  :     + 1   + 1.5   + 2   + 2.5         
Series IV :       + 0.5   + 0.5    + 0.5           
 
Hence, there must be 17 in place of 16. 
  
Therefore option (E) is correct. 

 
 

2.    Series Pattern: 
 

Series I :  24   30   48   90   168      294     
Series II :   + 6    + 18   + 42   + 78   + 126       
Series III  :     + 12   + 24   + 36   + 48         
Series IV :       + 12   + 12    + 12           
 

Hence, there must be 168 in place of 158. 
  

Therefore option (B) is correct. 
 
 

3.   Series Pattern: 
Series I :  101   108   132   190   299      476     
Series II :   + 7    + 24   + 58   + 109   + 177       
Series III  :     + 17   + 34   + 51   + 68         
Series IV :       + 17   + 17    + 17           
 

Hence, there must be 476 in place of 475. 
  

Therefore option (B) is correct. 
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4.  Series Pattern: 
 

Series I :  1   3   24   66   131      221     
Series II :   + 2    + 21   + 42   + 65   + 90       
Series III  :     + 19   + 21   + 23   + 25         
Series IV :       + 2   + 2    + 2            
 
Hence, there must be 24 in place of 21. 
  
Therefore option (A) is correct. 
 
 

5.   Series Pattern: 
 

Series I :  9   16   28   50   87      144     
Series II :   + 7    + 12   + 22   + 37   + 57       
Series III  :     + 5   + 10   + 15   + 20         
Series IV :       + 5   + 5    + 5           
 
Hence, there must be 28 in place of 25. 
  
Therefore option (C) is correct. 

 
 

6.   Series Pattern: 
 

Series I :  7   16   29   46   67      92     
Series II :   + 9   + 13   +17   + 21   + 25       
Series III  :     + 4   +4   + 4   + 4         
Series IV  :       + 0   + 0   +0           
 
Hence, there must be 16 in place of 12. 
  
Therefore option (D) is correct. 
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07.  
Series Pattern  Given Series   

2 × 02 + 2 = 2 2 ✓ 

2 × 12 + 4 = 6 6 ✓ 

6 × 22 + 6 = 30 30 ✓ 

30 × 32 + 8 = 278 274 ✕ 

278 × 42 + 10 = 4458 4458 ✓ 
 
Hence, option (B) is correct. 
 
 

8.  
Series Pattern  Given Series   

5 5 ✓ 

5 × 1.5 = 7.5 7.5 ✓ 

7.5 × 2 = 15 15 ✓ 

15 × 2.5 = 37.5 27.5 ✕ 

37.5 × 3 = 112.5 112.5 ✓ 

112.5 × 3.5 = 393.75 393.75 ✓ 

393.75 × 4 = 1575 1575 ✓ 
 
Hence, option (C) is correct. 
 

 

9.  
Series Pattern  Given Series   

(04 + 03) – (02 + 0) = 0 0 ✓ 

(14 + 13) – (12 + 1) = 0 0 ✓ 

(24 + 23) – (22 + 2) = 18 18 ✓ 

(34 + 33) – (32 + 3) = 96 96 ✓ 

(44 + 43) – (42 + 4) = 300 300 ✓ 

(54 + 53) – (52 + 5) = 720 750 ✕ 
 
Hence, option (E) is correct. 
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10. Series Pattern: 
 

Series I :  35   43   66   111   185      295     
Series II :   + 8   + 23   + 45   + 74   + 110       
Series III  :     + 15   + 22   + 29   + 36         
Series IV  :       + 7   + 7   + 7           

 
Hence, there must be 111 in place of 110. 

  
Therefore option (C) is correct. 
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